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Botany: Biotechnology: Principles & Process, Zoology: Structural organization in animals
Chemistry: d & f block Elements, Physics: Electric Charges & Fields

1. Selectable markers in PBR322 gre
1) ampR & tet®
2) ori & rop
3)BamH.1 &Cla |
4) Pst | & Pvu

2. ‘rop’ in plasmids codes for
1) Replication site
2) Cloning site
3) Selectable marker
4) Proteins involved in the replication

3. Progression of digestion of DNA by restriction
enzyme is checked by
1) Staining and elution
2) Gel electrophoresis
3) Employing selectable markers
4) Amplification through PCR

4. During r DNA technology, chitinases are used if
desirable gene is to be isolated from
1) Any plant cell
2) Bacterial cell
3) Virus
4) Fungal cell

5. Restriction point of EcoRl is
1) Between two purines
2) Between two pyrimidines
3) Between a purine and pyrimidine in 5" — 3’
4) Between a pyrimidine and purine in 5’ — 3’

6. The wings of cockroach used in flight are
1) Mesothoracic wings
2) Metathoracic wings
3) Tegmina
4) Elytra

1. PBR322 Gyghy BaeyQauiugd @nitiLmeiaseir
1) ampR & tet®
2) ori & rop
3)BamH.l1 & Cla |
4) Pst | & Pvu

2. WenmervLoll_-60 2_6iT6N ‘TOp’ 61HeM6ndh GHMIBHBGI?
1) @ gliungsd  Henid
2) &BenmeniimI Herid
3) BxpyayGFuiud @mliliumes
4) @11 19T H6060 FBHLL (B6IT6N L|J HhldH6iT

3. auewgwienm sreen&d cpsvld DNA QFflébsliLiBheudi
sTeleuTml FAUTTSSILIGS MBS
1) M LI H6D LOBEID HHEHH0
2) Glemev 616081 BrrGLIT@ydlerd
3) BxTeyGFUILD GHMILILTETEEMENT LILIGTLIHSHIHIFHED
4) PCR ¢p6uib QUIhEbHLID

4. rDNA Gsrfeopil usHer Curgl, @FHedmbal
A(HLOLISHHHD LOTLIGI) SHeoemLILBHSLIL
Gouemi(BLoTeRITeL, ML 19 BeurervdmelT  LIuIeLIBHSHLI
ICEL sl
1) gC@pamild Hreuy GFev
2) ursleflum Gasd
3) emeuyer
4) yehemg GFeL

5. ECORI @it suemyuienmi LisiTer
1) @yewi(h Lluyfledidb e E Seml uied
2) @yemi® enLfloligeiidehd@ Senl_ullsd
3) 5" — 3’ @60 LNuyfleir oBmid enLiflidliges Gewt Gui
4) 5" — 3" @60 @ eouflidligen wBBID LTuyfleor
RemL_Bui

6. ums@ Gurg UWSTUGSSILUGID — SFLILITET
LFFuler @moHensamel
1) 188enBamymeld B3 6m 6l
2) Quot LT@Lmyndd BBHNBHE
3) GL_dLhlevrT
4) a0 gy
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7. Read the following statements.

(a) Ground substance is solid and pliable.

(b) Present in between bones of vertebral
column.

Identify the tissue on the basis of given

characteristics and choose the correct option.
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8. Adipose tissue is similar to areolar tissue in all of

the following, except
1) Type of connective tissue cells
2) Presence of matrix
3) Type and arrangement of fibres
4) Storage of fat as main function

9. Complete the analogy.

10.

Blood vessels : Squamous epithelium : : PCT of
nephrons: __

1) Columnar epithelium

2) Ciliated epithelium

3) Compound epithelium

4) Cuboidal epithelium

Select the odd one w.r.t. Rana tigrina.

1) RBC:s are nucleated

2) Circulatory system closed type with complete
double circulation

3) Body divisible into head and trunk

4) Tongue is bilobed at the tip
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7. Netteu(HLD SnBmIEemeNLl LI &EHeaLD.

(2) mem1 QUITHET FHL_LOTETSI LOBEBID OB DAITETSI.

(b)  waEsby SHEGAL  TRDBEHHE
BemL_uied 2_6lTengl.

QaTBHBLILIL L UewTLB6eIMaT  SlgliLienL_ufled

SHaemneud SHWILBIHI Fflwrerens g
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Leiteumeuaiouienpd — &Hally,

Qamuply  FHa,
gMGuimeory glaemeuls GUTEIIBG
1) BenemitiL| Ha OF60H6iT UMD
2) Gt fldenfest B mLiL]
3) BMHETNET QUMD LDBBID SIGNLOLIL
4) pédw QFwedumma Qsmiplienu GFiliug)

9. @UIemIDEMUI (IPIg&BHALD.

10.

@OISHS BIENHIGB6T : OG6UTDeD 6IL1ge0WID : :

Or." Ligmesisefest PCT:

1) smewt 619gedwib

2) @miuientp 61 igeduid

3) anl’ ( e1L9g5e0wid

4) sagsly e g5eduid
grewrT  ewLGfleont  UBPB  QUTHHSTHMS

BaiboBBHSLD.

1) Feouliy BrdHs OF60H6IT 2 I H(HEL 63T 2_6iT6rmer

2) (WpeWITET BT evL HOBFUIL 6T cLpIQUI GIENS

SBOBTL L iewLoLIL|
2 LD HMV

LfléaslnGaBg

4) B1é@ BIRNUTe BB WG]

3) BBID 2 L BuGHUTs
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Which of the following sets of elements have
almost same atomic size?

1) Sc, Ti, V

2) Ni, Cu, Zn

3) Fe, Co, Ni

4) V, Ni, Cu

In the dichromate dianion

1) 4 Cr-0O bonds are equivalent

2) 6 Cr—0 bonds are equivalent

3) All Cr—O bonds are equivalent

4) All Cr—0 bonds are non—equivalent

The correct order of ionic radii of Yb%*, La®,
Eu®* and Lu®* is

1) Yb3 < La® < Eu* < Lu®*

2) Lud* < Yb* < Eud* < La**

3) Lud* < Eu* < La** < Yb**

4) La®* < Eu®* < Lu** < Yb**

For which one of the following ions, the colour
is not due to a d—d transitions?

1) Cr0;?

2) [Cu(NH3),]**

3) [Ti(H,0)6]>*

4) [CoF¢]3~

=
o)

Here, A, B, C, D, E and F refer to

1) A-LnO3; B-LnS3; C-LnCy; D—LnX3; E-LNnN;
F—H>

2) A-LnO3; B-LnX3s; C-LnCy; D-LnS3; E-Hy;
F-LnN

3) A—Hz; B-LnX3; C-LnCz; D-LnN; E-Ln,Ss;
F-Ln203

4) A-H; B-LnX3; C-Ln2Cs; D-LnN; E-LnSy;
F-LnO,

11.
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LedTeu(BLD 61h%H HeMomIBeT S L HFHL L 6T Siew
SleTeneUd C\BTaRT([B6N 66 ?

1) Sc, Ti, V

2) Ni, Cu, Zn

3) Fe, Co, Ni

4) V, Ni, Cu

L &CITCwL a1g)] Slweiuied

1) 4 Cr—0 LenewiLiL|&H6iT FIOIDTETEm6!

2) 6 Cr—0 L1en6miLIL|&6iT FLODTETEmE!

3) aimanigs Cr—O L1eneuwilIl|HeIhld FLOLOTETen6

4) smaisg Cr—O LenewiliLsEhd SFIOLT6Tene
SI606V

13. Yb*, La*, Eu® ommib LUt syswisuber siuwied

14.

15.

siymiserlen Fflwmer eufleng

1) Yb® < La® < Eud* < Lu®*
2) Lud* < Yb* < Eu®* < La**
3) Lud* < Eu®* < La®* < Yb**
4) La®* < Eu®* < Lu** < Yb**

Heteumld 6hd owelag, d—d wrBprhiseTed
BB Be0enev?

1) Cr0;2

2) [Cu(NH3),]**

3) [Ti(H,0)6]°*

4) [CoF¢]3~

B B

&mBs, A, B, C, D, E wpmib F ;& @pitug

1) A-LnOgz; B-LnS3; C-LnCy; D-LnX3; E-LNN;
FH>

2) A-LnOgz; B-LnX3; C-LnCz; D-LnS3; E-Hy;
F-LnN

3) A-Hz; B-LnX3; C-LnCy; D-LnN; E-Ln3Ss;
F-Ln203

4) A—Hz; B-LnX3; C-Ln2Cz; D-LnN; E-LnSy;
F-LnO2
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Two particles of equal mass m and charge q are
placed at a distance of 16 cm. They do not
experience any force. The value of g/m is

1)1

)

3) | =

4TTE

4) \J4meyG

A force between the two stationary charges
separated by certain distance

a) obeys Newton’s third law

b) is a centripetal force

c) is non conservative force

d) is a scalar

1) ais correct

2) a & b are correct

3) a & c are correct

4) ¢ & d are correct

A hollow cylinder has a charge g coulomb within
it placed at the centre. If ¢ is the electric flux in
unit of v—m associated with the curved surface B,
the flux linked with the plane surface A in unit of

0

B

g
SH S
2)%

3)2
Ho—o

*)

Assertion: An electrostatic field line never forms

closed loop.

Reason: Electrostatic field is a conservative

field.

1) Both assertion and reason are true and reason
is the correct explanation of assertion

2) Both assertion and reason are true but reason
is not the correct explanation of assertion

3) Assertion is true but reason is false

4) Both assertion and reason are false

Two points charges +2C and +6C repel each
other with a force of 12 N. If a charge of —4C is
given to each of these charges, the force now is
1) 4 N (repulsive)

2) 4 N (attractive)

3) 12 N (attractive)

4) 8 N (repulsive)
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g0 Hlews M WBBID Fo W6 L b ( OlsTemr
Brewih  sEeTHeT 16 M GmTemevailsd
MeUSBLILIB S TBET. SIS 61HF ailenagFemuiud
o _aniyailleuemnev elesiied (/M @6 &L
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)

3) | =

47[80
4) \J4mey G

GUEUILL  smpssTed  flssiu’ L Syen®
Blemeowimedr  LOGTEDITL L BB @ehd& — SenL Guiuimet
allena
a) Pyl L el eLpasimmeug) ol @@ SriLgdna)
b) @ wwelendd allens
C) SuBMeL OTBT allend
d) e eroBeevrit
1) a sflwirengl
2) a & b sflwrereneu
3) a & ¢ FflwiraTene
4) ¢ & d Fflwimerene

@@ Qeumml Fedewifled e Weanm L b C
MOWSHHO  meubsLILUL(Betengdl. ¢ eSILG
auemenhd Gopuriiy B o L et GamLjyenLur v—m
B)6IT D160&]60 261161 LOl6BT LITUILD 6T63IBIT60, V—M E)6ot
Sleudled Gomugliy A o L&l Senenrdhaliul L

UITULILDT 60T

@ B

n; (=) D,
3% HL-¢

Fppl: Weeiwed Ljevd CHmhH @mGUIHID cpigwl
GUEMGTUISENS 2 (HEUTHSHTHI.

SMTewILD: L6316 LLIGD LI6VLD (T SLBMEL LOTBIT Lj6VLD.
1) sBm wBBID &Tyenid SJewiB 2 awenio
LOBBILD STFERILD FnBplesr FFluITen allemeasLd
FaBUl OBBID HTIeRID TG 2 6wIenLD
SLSTL SMTIeWID Fnilest Fflwimet allendsid
91606V

3) FBmI 2_GWENLD SLETTED BTTCNILD HEUBTEIS]

4) Bl BBID HTTEID BTRIGLD HaIBTETEm6I

2)

Byewi® Leel Westanm L mikeim +2C oBmib +6C
12 N aflengujL_eit gesrenpowmetn alleud@Eb. Bbs
@alGeurp el L sHmBE —4C 1eaanm L ib
QaTBHSILLLTe0, BUICLTHI (HBGID alend

1) 4 N (aVevsa555551)

2) 4 N (seuydbamiguigi)

3) 12 N (sauysaniguig)

4) 8 N (alevédssH5H5H5H5I)
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NEET MICRO TEST 15 (25.11.2024) 20x4=80 MARKS

Botany: Biotechnology: Principles & Process, Zoology: Structural organization in animals
Chemistry: d & f block Elements, Physics: Electric Charges & Fields

1. Answer: (1)
2. Answer: (4)

Solution

16. Answer: (4)

3. Answer: (2) | FG |=|Fe|

4. Answer: (4) 02 | 2

5. Answer: (1) -G 4 — 4

6. Answer: (2) (16x107)*  4meg (16x107%)?
7. Answer: (1)

8. Answer: (4) = i:1/4nsOG

9. Answer: (4) m

10. Answer: (2) 17. Answer: (2)

11. Answer: (3)
Fe =126 pm
Co=125pm
Ni =124 pm

12. Answer: (2)

13. ANSWER: (2)
Size decreases along the period

14. ANSWER: (1)
Cr03?2 has no unpaired electrons

15. ANSWER: (3)

18.

19.

20.

They are action — reaction pairs and it is a
central force.

Answer: (1)
Grotal = A + ¢ + Oc

Since ¢c = dpa, we get
20+ 05 =Oioal =~ OF B4 —[i—%]
€0 €9

However, ¢g = ¢ (given). Hence,

_1fa
¢A_2[80 ¢j

Answer: (2)

Electrostatic field is a conservative field
which means work done by an electrostatic
field in moving a charge from one point to
another depends only on the initial and the
final positions and is independent of the path
taken to go from one point to the another.

Answer: (2)
12 = K(2) (6), F =K(2) (2)
From these two equations, F = 4N (attractive)
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